LO. I can solve word problems involving improper fractions

I am having a big party and I want to bake 16 chocolate fudge cakes for it. 
The ingredients for each chocolate fudge cake are: 
½ pint of milk 

⅓ of a bag of flour

⅕ of a bag of sugar

⅛ of a jar of chocolate spread.                                     

1/10 of a tub of margarine.
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1. Work out the amounts of each ingredient I need in order to bake 16 cakes. Write the amount as an improper fraction. The first has been done for you.
2. Below, write the amounts as a mixed fraction.
How many pints of milk will I use?

How many bags of flour will I use?

How many bags of sugar will I use?

How many jars of chocolate spread will I use?

How many tubs of margarine will I use?

3. Write a shopping list of the quantities I need to buy from the supermarket of each ingredient. 

4.  Use the price information to decide which supermarket to go to for the best deal?                

           ADSA          
          TESCO
  Morrisons     

 Milk: 50p for 1 pint (88p for 2 pints)              45p for 1 pint                                                 46p for 1 pint

Flour: £1.60 per bag                                          £1.94 per bag                                                99p per bag    

Sugar: 91p per bag                                              £1 per bag (special offer                             £1.52 per bag                                                                                                     .                                                                               Buy one get one free)

Choc spread: £2.85 per jar                                £3.03 per jar                                                   £2.15 per jar

Margarine:   £1.23 per tub                                £1.99 per tub                                                 £1.57 per tub         
